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[SsOL 2’095 A)

CREATE TABLE teacher (
iId INTEGER PRIMARY KEY NOT NULL,
name TEXT NOT NULL,
teacher name TEXT NOT NULL);

B 1 EIRC¥sqlite3¥sqlite3.exe

SQLite version 3.35.5 2021-04-19 18:32:05
Enter “. help” for usage hints.
Connected to a

Use “.open FILENAME” to reopen on a persistént database.

sglite> CREATE TABLE teacher (
..> 1d INTEGER PRIMARY KEY NOT NULL,

_..>  name TEXT NOT NULL,
...> teacher_name TEXT NOT NULL) ;
sqlite> o
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CREATE TABLE student (
Id INTEGER PRIMARY KEY NOT NULL,
student_name TEXT NOT NULL,
tid INTEGER NOT NULL,
score INTEGER);
sgl1te> CREATE TABLE student

...> 1d INTEGER PRIMARY KEY NOT NULL,
..> student_name TEXT NOT NULL,
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...> tid INTEGER NOT NULL,
...> score INTEGER) ;
sqlite> o
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INSERT INTO teacher VALUES(1, 'db', 'k");
INSERT INTO teacher VALUES(2, 'python’, 'a’);
SELECT * FROM teacher;

sglite> INSERT INTO teacher VALUES(1, "db’, "k');
sglite> INSERT INTO teacher VALUES (2, 'python’, "a’);
sql1te> SELECT * FROM teacher;

1]db|k
2 [python|a
sql 1te> o
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SELECT * FROM student;

INSERT INTO student VALUES(1, 'kk', 1, 85);
INSERT INTO student VALUES(2, 'aa’, 1, 75);
INSERT INTO student VALUES(3, 'nn’, 1, 90);
INSERT INTO student VALUES(4, 'kk', 2, 85);
INSERT INTO student VALUES(5, 'nn', 2, 75);

sglite> INSERT INTO student VALUES(1, °
sglite> INSERT INTO student VALUES (2, °
sglite> INSERT INTO student VALUES(3,
bsal ite> INSERT INTO student VALUES (4,
sgl ite> INSERT INTO student VALUES (5, °
sql ite> SELECT * FROM student;

1|kk({1]85
2laall1|75
3Inn{1]90
41kk|2|85
5[nn|2]75
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SELECT * FROM teacher, student
WHERE teacher.id = student.tid;

sqlite> SELECT * FROM teacher, student
...”> WHERE teacher. 1d = student. tid;
dbo (k]| 1[kk 1|85

1
1 db k 2 |aa
1{db[k|3[nn

2 python i i |2|85
2 [python
sgl ite>




